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What you will learn about:
Graphs of Linear Inequalities

LINEAR INEQUALITY

A linear Inequality is an mequallty that can ba written in one of tha folowing forms

Ar+8Bv>C Av+ Bv2C ix+8BveC Ax+ By < (

whara A and B are not both 2em

Determine whether each ordered pair is a solution to the inequality
y>x+4

a) (0, 0) b) (1, 6) ' c)(2,6) dJ(S, 15) e) (-8, 12)
0> 0% | LMY [ 622+ | 1ISD~SH | 12> -%+U
No Solutienl Y, ‘Nptl Yes Yes
59‘.. -on
Splntien solutien | ol tion

Ax+8y<C Ax+By<C

\x+8y>C Ax+By2C

Boundary line is doshad. Boundary line is solid.

The boundary line shown is y/=)2x — 1. Write the inequality shown
by the graph.
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The boundary line shown is y = —2x + 3. Write the inequality

h by th h.
shown by the grap é‘)?_ ("l.,ﬂb
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y_‘?_ -2AX+S

The boundary line shown is 2x 4+ 3y = 6. Write the inequality

shown by the graph. é , >

WD) b

-_'_i_'"i_'"i""-i""';_'-. 5 O <. G
Ax+ Dy <l

Graph the linear inequality y = f;x =
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Graph the linear inequality y = :x — 4,
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Graph the linear inequality y < Ex -5,
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Graph the linear inequality x — 2y < 5.
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Graph the linear inequality y < —4x.
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Graph the linear inequality y > 3.
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Graph the linear inequality 2x — 3y < 6.

o &C

Graph the linear inequality 2x — 4y > 0
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Graph the linear inequality x < 1.
¥4

A
C- = === -e-'.-'--"}

EEEd

b _______________________________________________ ]
Find the feasible region.

Y
x>1 H .
y<6 :
y2x—-2 O -
| B | 1
1
T
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Find the feasible region.
2x+y=>4 YA
X—y<—1 0
L |
T
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